
7 класс 

2.ТОЖДЕСТВА. ТОЖДЕСТВЕННОЕ ПРЕОБРАЗОВАНИЕ ВЫРАЖЕНИЙ 

1. 

 

а) 3y ⃝ 6y ⃝ 4y ⃝ 2y =  - y;         б) 6a ⃝ 5b ⃝ 6b ⃝ 2a = 4a – b. 

2. 

 

_______________________________________________________________  

_______________________________________________________________  

Ответ: _________________________________________________________  

3. 

 
Ответ: а) ______________б)______________в)_____________г)____________  

4. 

 
__________________________________________________________________  

__________________________________________________________________  

Ответ: ____________________________________________________________  

5. 

 
___________________________________________________________________

___________________________________________________________________  

 
___________________________________________________________________  

___________________________________________________________________ 


